A particle moves on the hyperbola zy = 18 for time £ > 0 seconds. At a certain
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instant, y = 6 and 73[’ = 8. Which of the following is true about x at this instant?
A S

x is decreasing by 4 units per second. X L\A - lQ

dh . p
T is increasing by 4 units per second. "
Ak

x is decreasing by 1 unit per second.
wh% = o4
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Z is increasing by 1 unit per second. Le
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A piece of rubber tubing maintains & cylindrical shape as it is stretched. At the instant that the inner radius of the tube is 2 millimeters and the height is 20
millimeters, the inner radius s decreasing at the rate of 0.1 millimete

second and the helght is Increasing at the rate of 3 millim

The valume is increasing by 4 cubic millimeters per second
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The volume is decreasing by 4 cubic millimeters per second. uk - jﬂ [1)[ ’.é {b‘l) ‘\'“ lq&lj)
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dv
el

The volume is increasing by 20 cubic millimeters per secon

The volume Is decreasing by 207 cuble millimeters per second
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Selected values of the derivative of the function g are given in the table above. It is known that g(3) = 17.

What is the approximation for g(3.2) found using the line tangent to the graph of §at z = 3 ?
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Let f be a differentiable function such that f(4) = 7 and f 4= -;-. The graph of f is concave up on the

interval (3,5). Which of the following is true about the approximation for f(3.5) found using the line

tangent to the graph of f atz = 47 [L\ .13 \
(R £(3.5) = 6.9 s his approximation is an overs)guare of the vl of / (3.5). \{ N\ (xR '3
v =1+ 59
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@{(3.5) ~ 6.9 and this approximation is an underestimate of the value of f(3.5).
@ £(8.5) = 7.1 and this approximation is an m‘er%timaxe of the value of f(3.5).

@ f(3.5) = 7.1 and this approximation is an underestimate of the value of f(3.5).



6. E Let f be a function such that at each point (2,%) on the graph of f. the slope is given by

Q -:—:- = %a: - iyz The graph of f passes through the point (1, —2) and is concave up on the interval
1 < z < 1.5. Let k be the approximation for f (1.3) found by using the locally linear approximation of f at
z = 1. Which of the following statements about k is true? K\ _ ‘)
|
@ k = —2.65 and is an underestimate for f (1.3). é A 9
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. k= —2.65andis an over;,(imate for f(1.3). _5,-. _ lf{ L“\

®/ k = —2.15 and is an underestimate for f (1.3). %:‘7[\ = —'_‘_9:
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